
Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll have to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of Week’s 3 questions should be handed to me in the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.
Please write Week 3 in bold at the beginning of your answers.

L5: Why declining prices reduce AD:

1. a) What will be the implication of a large number of non-performing loans on banks? Explain.

b) And on the respective depositors? Explain.

2. Bank failures may reduce the availability of credit to many – not all - businesses. Why?

Do not answer this question 3. a)Why may falling prices lead people to postpone expenditure on durable C goods? Will the same happens with non-durable C goods? Explain.

b) Why may falling prices reduce the incentive of businesses to invest?

Questions about L4 that were missing: 
4. Indicate the various ways in which economies rely on debt to function.

5. a) Explain why a decline in prices leads to a transfer of wealth from debtors to savers.

b) Why do debtors tend to have a higher propensity to spend out of wealth than savers?

c) What’s the effect on unemployment of the transfer of wealth mentioned in a)? Explain.

6. a) Explain why a decline in prices leads to a transfer of real income from debtors to savers. 

b) “A decline in prices leaves nominal interest payments unaffected.” Do you agree? Tell what happened during the GD in this respect.

c) Why do debtors tend to have a higher propensity to spend out of income than savers?

d) What’s the effect on unemployment of the transfer of real income mentioned in a)? Explain.

7. Explain what happened during the GD to many US farmers who in the previous years had bought land and capital goods with loans.
8. Why do falling prices tend to increase the number of households and businesses unable to meet their debt services?

9. Falling prices lead to apprehension in the credit market. Apprehension by whom? Why?

10. What’s the consequence of that apprehension on output and prices? Explain.

11. a) In which ways does declining real output tend to increase the apprehension in the credit market? Explain.

b) In which ways does declining prices tend to increase the apprehension in the credit market? Explain.

12. A decline in new loans may or may not lead to a decline in the amount of NOMINAL outstanding debt. Why?

13. Observing what was happening in 1929-33, Irving Fischer concluded: “the more debt debtors pay, the more they owe”.


a) Was that literally true? Explain.

b) Explain the economic mechanism that led to Fischer’s observation.






…

Again questions about L5:

14. What’s the implication of a relatively small number of non-performing loans on banks’ balance sheets? Explain

15. Explain how banks cope with that problem.

16. What is the negative consequence that can have on the economy?
17. What led to the first banks insolvencies in the Great Depression? Explain.
18. What led to the banks runs during the Great Depression? Explain.
19.  Why did that lead to more bank insolvencies?
20. What was the consequence of bank insolvencies on the AD during the Great Depression? Explain.
L6: Ch. 2. C: Can Say’s law prevent unemployment?

        D.The need for a Central Bank

21. What’s the fundamental question of macroeconomics?

Note: 

Say’s law as formulated by Say:

“A product is no sooner created than it, from that instant, affords a market for other products to the full extent of its own value. When the producer has put the finishing hand to his product, he is most anxious to sell it immediately, lest its value should diminish in his hands. Nor is he less anxious to dispose of the money he may get for it … in the purchase of some product or other. Thus the mere circumstance of creation of one product immediately opens a vent for other products.”

Because production necessarily creates demand for itself, a "general glut" of unsold goods is impossible.
As you can see, Say was not naïve to think, as most economist today do, that supply would always get its own demand through declines in prices.

22. Suppose that C=0.5* income and that AD= 100 euros in May.
a) Write the circular flow of income-expenditure-output (the first scheme of the lecture) that will prevail in June.

a) What does ensure that all income received from May will be spent in June? Illustrate with a graph based on the interaction between the Id and S curves, and (Cd+Id) and FEK,L curves.
d) Complete the last part of the following sentence: Instead of saying that ‘supply creates its own demand’ it would be more precise to say that, ‘the … of May … the … of June’
23. Suppose that Say’s was valid. Suppose that last month AD < FEK,L and assume no capital accumulation. Can we say that ‘S creates its own demand and therefore output is never constrained by lack of AD’? Explain.

24. Suppose that Say’s was valid. Suppose that last month AD=FEK,L and assume capital accumulation. Can we say that ‘S creates its own demand and therefore output is never constrained by lack of AD’? Explain.

25. Suppose that last month AD=FEK,L and assume capital accumulation.
a) Explain why FEK,L next month may have to rely on changes in interest rates by the CB (rather than by banks). 

b) What happens to the money stock and to the stocks of accumulated savings and business debt? Explain.

26. a) What is the velocity of money (V)?
b) What is the V assumed in the circular flow of expenditure-output-income’ presented in the lecture? Explain.

c) What is the V associated with consumption expenditure (VC) assumed in the circular flow of expenditure-output-income’ presented in the lecture? Explain.

d) What is the V associated with investment expenditure (VI) assumed in the circular flow of expenditure-output-income’ presented in the lecture? Explain.

27. a) What is VC per month if the consumer spreads her expenditure uniformly over the 30 days of the month? Explain.
b) What is VI per month? Explain.
28. Key question: Consider the circular flow of expenditure-output-income of the beginning of the lecture.
If banks adjust the interest rate to make the D for finance equal to the supply of finance what will be the relation between I and S? Explain. And what will be the relation between AD in one month and that of the previous month? Explain.

29. Given the answer you gave to the previous question, how is the interest rate and the quantity of money set?
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